RHINO-RACK

Aluminium Folding Ladder Bracket RUFLB

Important:

Please read these instructions carefully prior to installation.
Please refer to your fitting instruction to ensure that the alloy tray is installed correctly.
Check the contents of this kit before commencing fitment and report any discrepancies.

Parts

Note: Intended for use with RAFL.

ltem Component Name Qty Part No.
1 Base Bracket 2 CA1678
2 Top Bracket 2 CA1679
3 M10 Knob 2 M874
4 M6 x 20mm Socket Screw 4 B054
5 M6 Spring Washer 4 WO004
6 M6 Flat Washer 4 WO031
7 M6 Plate Nut 2 CA1426
8 M10 x 100mm Hex Bolt 2 B259
9 M10 Spring Washer 2 WO061
10 M10 Nut 2 N021
11 M10 Nyloc Nut 2 N101
12 Allen Key 1 H021
13 Instructions 1 R1396

Tools required: 16mm (5/8”) Socket Wrench

n Loosely

assemble the
M6 hardware
as shown.

For more clear-
ance or mounting
to the rear of a
platform, use the
rear holes.

M6x20mm Socket
Screw.

M6 Spring Washer —— <@>
M6 Flat Washer —

M6 Nut Plate

n Slide the M10

bolt, spring
washer and
nut into place.
Tighten with
16mm (5/8”)
wrench.

M10 Hex Bolt.

|

M10 Nut. — @
M10 Spring Washer.

Slide the brackets into the side of the pioneer platform.
Space them roughly 595mm (23 7/16”) apart.

595mm (23 7/16”)

1 1
1 1
1 1
< »
. 5 >
1 1
1 1
1 1

n Screw the M10 nyloc nuts down onto the hex
bolts. Set the nyloc nut 40mm down from the
top of the thread.

40mm

Page 1 of 2



https://www.carid.com/rhino-rack/

=2/ W
i) - .
%{‘){ Aluminium Folding Ladder Bracket RUFLB
ﬂ Place the folded ladder into the brackets. The ladder must be -
The ladder is slid der the top hook of the
angled in under the top hook of the bracket, before being seated bracket threln c;ml:ez ttjc:]resrt on thz lower ledge
onto the bottom ledge of the bracket. ’ '

l‘] The top bracket slides over the hex bolt and rests on the nyloc nut. Note: The top bracket ¢ letelv ario th
Be sure to hook the top bracket over a rung of the ladder both front ote- 1he fop bracket must compietely grip tne

and rear (adjust the nyloc nut if the top bracket cannot grip the rur|1g of t?e.ﬁlddir tc?tstihsegurekBte sure the
ladder properly). Lock the top bracket in place with the M10 knobs. nyloc nut sitfiush wi € bracket.
Tighten the brackets in place using the allen key provided. M10 knob.

Top bracket.

T Nyloc nut.

M10 knob.
Top bracket.

To remove ladder, loosen M10 knob and swing the
brackets down as shown.

The brackets will swing out of the way, releasing the ladder.

For security, use pioneer cable lock 43205

Fit Time: 15min

Page 2 of 2 Rely only on high-grade roof rack and cargo carriers on our virtual shelves.


https://www.carid.com/roof-racks.html

